
organization

«co lumn »
*PK uu id  :va rcha r(32)
* na me  :varch ar(20 0)
 act ive  :boole an
 db creati onda te  :ti mestamp witho ut tim e zo ne
 db lasted itdate  :tim esta mp withou t tim e zon e

«PK»
+ pk_ orga nizat ion(va rcha r)

register

«co lumn »
*PK uu id  :va rcha r(32)
* uri   :varchar(3 00)
*FK reg istry  :varchar(3 2)
* lab el  :varcha r(300 )
 de script ion  : text
 pu blishe rnam e  :varcha r(500 )
 pu blishe rema il  :varcha r(500 )
 pu blishe ruri  :varch ar(5 00)
 up datef reque ncy  :varchar(3 00)
 lasteditd ate  :time stam p with out t ime zone
 lastharvestda te  :ti mestamp witho ut tim e zo ne
 db creati onda te  :ti mestamp witho ut tim e zo ne
 db lasted itdate  :tim esta mp withou t tim e zon e

«PK»
+ pk_ register(va rcha r)

«FK»
+ fk_ regist ry_re gister(varchar)

registry

«co lumn »
*PK uu id  :va rcha r(32)
* uri   :varchar(3 00)
* lab el  :varcha r(300 )
 de script ion  : text
 pu blishe rnam e  :varcha r(500 )
 pu blishe rema il  :varcha r(500 )
 pu blishe ruri  :varch ar(5 00)
*FK org aniza tion  :varchar(3 2)
 FK use rs  :varcha r(32)
 up datef ile  :varcha r(900 )
 up datef reque ncy  :varchar(3 00)
 lasteditd ate  :time stam p with out t ime zone
 lastharvestda te  :ti mestamp witho ut tim e zo ne
 db creati onda te  :ti mestamp witho ut tim e zo ne
 db lasted itdate  :tim esta mp withou t tim e zon e

«PK»
+ pk_ registry(va rchar)

«FK»
+ fk_ regist ry_organization (varchar)
+ fk_registry_users(varchar)

relation

«co lumn »
*PK uu id  :va rcha r(32)
*FK sou rcere giste r  :va rchar(32)
*FK rel atedregiste r  :va rcha r(32)
* rel ation type  :varchar(3 2)
* sta tus  :varch ar(30 0)
 db creati onda te  :ti mestamp witho ut tim e zo ne
 db lasted itdate  :tim esta mp withou t tim e zon e

«PK»
+ pk_ relat ion(varcha r)

«FK»
+ fk_ relati on_re giste r_rel ated(varch ar)
+ fk_ relati on_re giste r_sou rce(varcha r)

us ers

«co lumn »
*PK uu id  :va rcha r(32)
* eca sid  :varch ar(20 0)
 FK org aniza tion  :varchar(4 00)
 act ive  :boole an
 db creati onda te  :ti mestamp witho ut tim e zo ne
 db lasted itdate  :tim esta mp withou t tim e zon e

«PK»
+ pk_users(varchar)

«FK»
+ fk_ users_orga nizat ion(varcha r)

+fk_regi stry_registe r

0..*

(re gistry = uu id)

«FK»

+pk_registry

1

+fk_regi stry_o rgan izatio n 0..*

(organization  = uu id)

«FK»

+p k_org aniza tion 1

+fk_rela tion_ register_so urce 0..*

(so urceregiste r = u uid)

«FK»

+p k_reg ister1

+fk_rela tion_ register_re lated 0..*

(re lated register = u uid)

«FK»

+p k_reg ister 1

+fk_registry_users

0..*

(users = uuid)

«FK»

+pk_users 1

+fk_users_org aniza tion

0..*

(organization  = uu id)

«FK»

+p k_org aniza tion

1


